Oppgave 1:

Regnerekkefglger med algebra - miks 1 side

Forenkle uttrykkene sa mye som mulig

9
L. \/1(3+1)+42+§(8+6a):

2. 924

3. 312+

9
T(19+9) + 5 (14+15) =

23(20 +3) + = =

8

4. 10(17 —20) + /21 (13 + 8) + 14% =

ot
N DN

(5a+5)+7(19b+15)—g:

6
6. 6(16+8)+6(13—9)+%:

2
7. 4.,
171

a

2

5
8. \/16(9+0) +26% — 7 (18+13) =

9. V/B(26+6)+29%+ 5 +6(17+ 14) =

10. 8(2a+8)+%+5(7+16):

11. 1(9+17)+g—6(10—7a):

12. 2(1—9)—9(12a+11)+g(5—11):

13. 8
5

(13+18) + 7(9 — 4a) + 25* + /4 (11 + 14) =

14, 242 + 1(6+10)+8(17+4)—%:

15.

| co

(16 +10) + /12 (2 + 10) + 362 + & =

4

16, 4(4+6a)—§(6+8)—5(20—20):

6
17 4(1+19a) + (14 +8) =

18. 307 + /22 (6 + 16) + 10% + /26 (26 + 0) =

8
19. /23 (17 + 6) + 262 — 7 (10+20) =

20.

| =

(20 — 10) — 26% + /18 (17 + 1) — 8 (17 — 10) =
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